C:h Comparing Approximate Measurement with Chartsand Tables Name:

Solve each problem.

1) Compare the approximate liters of orange juice produced per crates used of Company A to Company B.

R Company B
Company A o 650 o
Litersof & 600 °
S 550
Crates of Orange g 500 °
Oranges Juice 3 2138 °
Made o 350 .
4 277 g 300
O 250
5 348 5 50
6 419 % 150
8 563 = 100
- 50
9 634 N
5 6 7 8 9
Crates of Oranoes
2) Compare the approximate speed of Biker 1 to Biker 2.
Biker 2
A
140
Biker 1
) : —~ 120
Time Distance E .
(Hours) | Biked (km) g 100
4
1 13 T 80
2 31 8 60 -
7 115 &
B 40 v
8 133 a)
9 149 20 .
T2 3 6 8
Time (Hours)
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[ M ath ] www.CommonCoreSheets.com 6




ﬂh Comparing Approximate Measurement with Chartsand Tables Name:  Answer Key

Solve each problem.

1) Compare the approximate liters of orange juice produced per crates used of Company A to Company B.

. Company B
Company A o 650 °
Litersof 8 600 °
= 550
Crates of Orange g 500 °
Oranges Juice 3 288 °
Made 8 350 o
4 277 8 300
O 250
5 348 5 200
6 419 v 150
o)
8 563 = 100
- B0
9 634 >
5 6 7 8 9

Crates of Oranoes
361+431+503+574+644 = 2,513 totdl liters
5+6+7+8+9 = 35 total crates

277+348+419+563+634 = 2,241 totd liters
4+5+6+8+9 = 32 total crates

2,241+32=70.0 2,513+35=71.8
2) Compare the approximate speed of Biker 1 to Biker 2.
Biker 2
V'
140 ®
Biker 1
_ . ~ 120
Time Distance £ .
(Hours) | Biked (km) =1 100
Y4
1 13 o 80
2 31 8 60 .
7 115 5
B 40 v
8 133 &)
9 149 20 .
T 2 3 6 8o

Time (Hours)
19+38+53+105+138 = 353 total km
1+2+3+6+8 = 20 total hours
353+20=17.7

13+31+115+133+149 = 441 total km
1+2+7+8+9 = 27 total hours
441+27 =16.3
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